Aptitude Test
Each question carries equal marks. Each Wrong answer will carry negative marks.
Total Marks – 70








            Time 60 minutes

1-5: Select whichever word you consider most appropriate for the blank space as your answer.
1. The train’s crossing the bridge just before the bridge collapsed was ______________.
(a) Accidental
(b) Providential
(c) Fatal
(d) Deplorable
2. The Court has directed the University to ____________ the publication of results until further orders.
(a) Quicken
(b) Accelerate
(c) Defer
(d) Cancel
3. The US Ambassador to India submitted his ____________ to the President of India.

(a) Orders
(b) Certificates
(c) Bio data
(d) Credentials
4. As the crowd didn’t heed the warning, the police _____________ to lathi charge.

(a) Resorted
(b) Retaliated
(c) Moved
(d) Marched
5. I shall avail ______________ of your advice.

(a) Him
(b) Me
(c) Yourself
(d) Myself
6-10: Each of the questions below consists of two words that have a certain relationship to each other, followed by five lettered pairs of related words. Select the lettered pair of words.
6. ANGLE : DECATE 

a. area : square inch 

b. milk : quart 

c. society : classes 

d. letter : alphabet 

e. time : minutes 

7. CONFIRMED : INVETERATE 

a. knowledge : supposed 

b. financial : bankrupt 

c. immature : callow 

d. credible : incredible 

e. careful: punishing 

8. LULLABY : BARCAROLE 

a. birth : marriage 

b. night : morning 

c. cradle : gondola 

d. song : poem 

e. carol : sonneteer 

9. ZOOLOGY : ANIMALS 

a. ecology : pollution 

b. botany : plants 

c. chemistry : atoms 

d. history : people 

e. mathematics : geometry 

10. DORY : VAN 

a. dairy : cow 

b. fish : vehicle 

c. freighter : caisson 

d. runners : wheels 

e. danish : Dutch 

Questions 11-17 

For a period of more than two centuries paleontologists have been intrigued by the fossilized remains of pterosaurs, the first flying vertebartes. The issues, which puzzle them, are how these heavy creatures, having a wingspan of about 8-12 meters managed the various problems associated with powered flight and whether these creatures were reptiles or birds. 

Perhaps the least controversial assertion about the pterosaurs is that they were reptiles. Their skulls, pelvises, and hind feet are reptilian. The anatomy of their wings suggests that they did not evolve into the class of birds. In pterosaurs a greatly elongated fourth finger of each forelimb supported a winglike membrane. The other fingers were short and reptilian, with sharp claws. In birds the second finger is the principal strut of the wing, which consists primarily of feathers. If the pterosaurs walked on all fours, the three short fingers may have been employed for grasping. When a pterosaurs walked or remained stationary, the fourth finger, and with it the wing, could only urn upward in an extended inverted V- shape along each side of the animal's body. 

In resemblance they were extremely similar to both birds and bats, with regard to their overall body structure and proportion. This is hardly surprising as the design of any flying vertebrate is subject to aerodynamic constraints. Both the pterosaurs and the birds have hollow bones, a feature that represents a savings in weight. There is a difference, which is that the bones of the birds are more massively reinforced by internal struts. 

Although scales typically cover reptiles, the pterosaurs probably had hairy coats. T.H. Huxley reasoned that flying vertebrates must have been warm-blooded because flying implies a high rate of metabolism, which in turn implies a high internal temperature. Huxley speculated that a coat of hair would insulate against loss of body heat and might streamline the body to reduce drag in flight. The recent discovery of a pterosaur specimen covered in long, dense, and relatively thick hair like fossil material was the first clear evidence that his reasoning was correct. 

Some paleontologists are of the opinion that the pterosaurs jumped from s dropped from trees or perhaps rose into the light winds from the crests of waves in order to become airborne. Each theory has its associated difficulties. The first makes a wrong assumption that the pterosaurs hind feet resembled a bat's and could serve as hooks by which the animal could hang in preparation for flight. The second hypothesis seems unlikely because large pterosaurs could not have landed in trees without damaging their wings. The third calls for high aces to channel updrafts. The pterosaurs would have been unable to control their flight once airborne as the wind from which such waves arose would have been too strong. 

11. As seen in the above passage scientists generally agree that: 

i. the pterosaurs could fly over large distances because of their large wingspan. 

ii. a close evolutionary relationship can be seen between the pterosaurs and bats, when the structure of their skeletons is studied. 

iii. the study of the fossilized remains of the pterosaurs reveals how they solved the problem associated with powered flight 

iv. the pterosaurs were reptiles 

v. Pterosaurs walked on all fours. 

12. The view that, the pterosaurs rose into light winds from the crest of the waves to become airborne, is viewed by the author as 

i. revolutionary 

ii. unlikely 

iii. unassailable 

iv. probable 

v. outdated. 

13. As inferred from the passage, the skeleton of a pterosaur is distinguishable from that of a bird by the 
i. length of its wingspan 

ii. hollow spaces in its bones 

iii. anatomic origin of its wing strut 

iv. evidence of the hooklike projections on its hind feet 

v. location of the shoulder joint joining the wing to its body. 

14. From the viewpoint of T.H.Huxley, as given in the passage, which of the following statements is he most likely to agree with? 

i. An animal can master complex behaviors irrespective of the size of it's brain. 

ii. Environmental capabilities and physical capabilities often influence the appearance of an animal. 

iii. Usually animals in a particular family group do not change their appearance dramatically over a period of time 

iv. The origin of flight in vertebrates was an accidental development rather than the outcome of specialization or adaption 

v. The pterosaurs should be classified as birds, not reptiles. 

15. According to the passage which of the following is a characteristic of the pterosaurs? 
i. The pterosaurs were not able to fold their wings when not in use 

ii. Like the bats, they hung upside down from branches 

iii. They flew in order to capture prey 

iv. They can be said to be an earlier stage in the evolution of the birds 

v. They lived principally in a forest like habitat. 

16. The organization of the last paragraph of the passage can best be described as: 
i. New data is introduced in order to support a traditional point of view 

ii. Three explanations are put forth and each of them is disputed by means of specific information 

iii. An outline of three hypotheses are given and evidence supporting each of them is given 

iv. Description of three recent discoveries is presented, and their implications for future study are projected 

v. The material in the earlier paragraphs is summarized and certain conclusions are from it. 

17. According to the passage, some scientists believe that pterosaurs 

i. Lived near large bodies of water 

ii. Had sharp teeth for tearing food 

iii. Were attacked and eaten by larger reptiles 

iv. Had longer tails than many birds 

v. Consumed twice their weight daily to maintain their body temperature. 

Questions 18-20
Disequilibrium at the interface of water and air is a factor on which the transfer of heat and water vapor from the ocean to the air depends. The air within about a millimeter of the water is almost saturated with water vapor and the temperature of the air is close to that of the surface water. Irrespective of how small these differences might be, they are crucial, and the disequilibrium is maintained by air near the surface mixing with air higher up, which is typically appreciably cooler and lower in water vapor content. The turbulence, which takes its energy from the wind mixes the air. As the speed of wind increases, so does the turbulence, and consequently the rate of heat and moisture transfer. We can arrive at a detailed understanding of this phenomenon after further study. The transfer of momentum from wind to water, which occurs when waves are formed is an interacting-and complicated phenomenon. When waves are made by the wind, it transfers important amounts of energy-energy, which is consequently not available for the production of turbulence.
18. This passage principally intends to: 

i. resolve a controversy 

ii. attempt a description of a phenomenon 

iii. sketch a theory 

iv. reinforce certain research findings 

v. tabulate various observations 

19. The wind over the ocean usually does which of the following according to the given passage? 
I. Leads to cool, dry air coming in proximity with the ocean surface. 
II. Maintains a steady rate of heat and moisture transfer between the ocean and the air. 
III. Results in frequent changes in the ocean surface temperature. 

i. I only 

ii. II only 

iii. I and II only 

iv. II and III only 

v. I, II, and III 

20. According to the author the present knowledge regarding heat and moisture transfer from the ocean to air as 

i. revolutionary 

ii. inconsequential 

iii. outdated 

iv. derivative 

v. incomplete 

Questions 21 - 25 refers to the following table: 

PROFILE OF CONGRESS IN YEAR X 
(total membership: 535) 

	House of
Representatives
	 
	Senate

	

 
	

Party
	

 

	292
	Democratic
	62

	143
	Republican
	38

	435
	TOTAL
	100

	 
	Sex
	

	418
	Male
	100

	17
	Female
	0

	 
	Age
	

	27
	Youngest
	34

	77
	Oldest
	80

	48
	Average
(arithmetic mean)
	54

	 
	Religion
	

	255
	Protestant
	69

	107
	Catholic
	12

	18
	Jewish
	5

	4
	Mormon
	3

	51
	Other
	11


	House of
Representatives
	 
	Senate

	

 
	

Profession
	

 

	215
	Lawyer
	63

	81
	Business Executive
or Banker
	15

	45
	Educator
	6

	14
	Farmer or Rancher
	6

	22
	Career Government
	0

	24
	Official
	4

	2
	Journalist or 
Communications
	0

	1
	Executive
	1

	0
	Physician
	2

	6
	Veterinarian
Geologist
	0

	25
	Worker or Skilled
Tradesperson
Other
	3

	 
	Ethnic Group
	

	17
	Black American
	1

	2
	Asian American
	3

	4
	Hispanic American
	0


21. In the Senate, if 25 male members were replaced by 25 female members, the ratio of male members to female members would be 

a. 4 to 1 

b. 3 to 1 

c. 3 to 2 

d. 2 to 1 

e. 1 to 1 

22. Approximately what percent of the members of Congress are lawyers? 

a. 63% 

b. 58% 

c. 56% 

d. 52% 

e. 49% 

23. If 5 senators are Catholic Democrats, how many senators are neither Catholic nor Democratic? 

a. 79 

b. 74 

c. 69 

d. 31 

e. 21 

24. If all lawyers and all women in the House of Representatives vote for the passage of a bill, how many more votes will be needed for a majority? 

a. 435 

b. 220 

c. 3 

d. 0 

e. It cannot be determined from the information given. 

25. Which of the following can be inferred from the information given in the chart? 

. More than 80 percent of the men in Congress are members of the House of Representatives. 

I. The percent of members who are categorized as farmers or ranchers is greater for the House of Representatives than for the Senate. 

II. The median age in the Senate is 57. 

C. I only 

D. II only 

E. III only 

F. I and II 

G. I and III 

26. Four concentric ( having the same center ) circles with radii, x, 2x, 3x and 4x are drawn to form two rings A and B as shown in the figure. 
[image: image1.png]



Ratio of the area of inner ring A to the area of outer ring B is 

a. 1 : 2 

b. 1 : 4 

c. 2 : 3 

d. 3 : 7 

e. None of the above 

27. The proportion of milk and water in 3 samples is 2:1, 3:2 and 5:3. A mixture comprising of equal quantities of all 3 samples is made. The proportion of milk and water in the mixture is 

a. 2:1 

b. 5:1 

c. 99:61 

d. 227:133 

28. In a kilometre race, A can give B a start of 100 m or 15 seconds. How long does A take to complete the race? 

a. 150 seconds 

b. 165 seconds 

c. 135 seconds 

d. 66.67 seconds 

29. The difference between the compound interest and the simple interest on a certain sum at 12% p.a. for two years is Rs.90. What will be the value of the amount at the end of 3 years? 

a. 9000 

b. 6250 

c. 8530.80 

d. 8780.80 

30. What is the circum radius of a triangle whose sides are 7, 24 and 25 respectively? 

a. 18 

b. 12.5 

c. 12 

d. 14 

Questions 31 - 33
In an experiment conducted at a laboratory, 160 white mice were injected with Serum D. 160 other white mice were injected with a harmless sugar solution .In two weeks time 39% of the white mice, who were injected with Serum D contracted the highly contagious and often fatal disease, jungle fever. Hence, it can be concluded that jungle fever is caused by some elements similar to the elements in Serum D. 

31. The above discussion would be weakened most severely in case it is shown that 

a. People contracting jungle fever are usually the victims of the bite of the South American Lesser Hooded Viper. 

b. One among the 160 white mice had already contracted jungle fever prior to the laboratory experiment. 

c. The natural habitats of white mice does not contain any of the elements found in Serum D. 

d. The scientists administered the injections being ignorant of the contents of the solutions used. 

e. The 160 white mice used in the laboratory experiment were kept isolated from each other. 

32. The above argument would be highly empowered in case it were shown that: 

a. Some of the elements in Serum D are extracted from the root of a certain poisonous jungle wildflower. 

b. Within a period of two weeks about 40% of the white mice, who were injected with a harmless sugar solution also contracted jungle fever. 

c. Almost all the white mice died within a period of two days after the first symptoms appeared. 

d. Normally the rate of jungle fever among white mice is less than 0.01%. 

e. Invariably the blood of the victims of jungle fever victims contains a high level of a certain toxic substance also found in serum D. 

33. Distribution of leaflets and delivering speeches on government property should be outlawed. Radicals and fanatics have no right to use public property when peddling their unsavory views. 

The argument above is based on the postulate 

a. The general public has a special concern in the free exchange of different political views. 

b. Radicals and fanatics prefer the use of public property while propagating their viewpoint. 

c. Every person who hands out leaflets and delivers speeches is a radical or fanatic. 

d. Legal constraints which are applicable to one group need not be equally applicable to all. 

e. Any political activity, which hinders the proper functioning of the government should not be protected by the law. 

Questions 34 - 35
Successfully adjusting to one's environment leads to happiness. War at a universal level war destroys the weaker people, who are the most unable to adjust to their environment. Thus, war at the universal level puts weaklings out of their misery and allows more space for their predators to enjoy life in a better manner. As those actions have to be performed, which maximize the level of happiness of the greatest number, war at a universal level should take place. 

34. What response would the author of the above discussion come up with, in the case of the objection that the weaklings far exceed strong people? 

a. He would respond with the statement that the person making the objection is a weakling. 

b. He would respond by saying that weaklings will be miserable no matter what happens. 

c. He would respond with the statement that the strong would be frustrated if the weaklings are destroyed. 

. I only 

A. II only 

B. III only 

C. I and II only 

D. II and III only 

35. The author's discussion would be greatly if he agreed to which of the following? 

V. Technology could change the environment. 

VI. War at the universal level would be an integral part of the environment. 

VII. It is possible for the strong to survive without suppressing the weak. 

H. I only 

I. II only 

J. III only 

K. I and III only 

L. I, II and III only 

